“1857 5T TIGE (Revolt 0p 1357)

Contentd ;). 1887 B YRS 26 == o
(T, a5y faghe =1 w0l
2, 1857 25 fasie =oT AT AT TEATHH
L 1857 5 {argre =»1 SR
c. 1857 35 {amE - araerear es wRON
a5y 3= fagE = TEEE
7.1857 35 fage o AROTH

- 2 e 9N ?
{1 1S e ARAY b 2agq W © §7S8 q_% &'r?%—x?ﬂ)/‘

= €Wﬂ%?5 .&[Fﬁ%,wﬁ@ﬁ?b ,ﬁ@%—as,gmmﬁﬁasm
Fkﬁ%ﬁr—ﬁm’gﬁqﬁﬁ;ﬂ?mﬂ&a}ksﬁ
Q@WW‘W’%\T’%’&-—%M by qa;)\ﬂ
sfies gRowH <@ag STHST rooa’aFdﬁF 16517—%6‘%@"&
=W g&ﬁﬂ’\mts%m—gr%?f&\ -

>, 185%F > agiE =5 Zo1R0T 4 %@%—q—(&% ar
e e B e e ol 2

@x@%‘é‘ﬂ?”%@% -
Wsm—bﬂ%v:g%‘;—h lm&_%s_zr et
‘r ? gznir-ﬁ%,sz’rﬁ\ﬁ%ﬁ'%f*ﬁ’ﬂwm"a

N ey T, A= | .



